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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He said it expanded his lungs’. The antonym of ‘expand’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen

2. ‘Did you get up early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

3.1 kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH
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First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixth ball (4) Fourth ball
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5.

How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3) 0 (4) 2

6. What are the two balls in which the batsmen scored the same runs ?

(1) First and Second balls (2) First and Sixth balls
(3) Third and Fifth balls (4) Second and Third balls

Wl. Identify the proper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7.

W N

1. Hi, Cherry, how are you ?
Well, | play a lot of sport.
| like shuttie badminton.

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

What sport do you like the best ?

o

6. Yes|do.1go running in the moming at least five days a week. Are you interested
in sport too ?

7. Doyou ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

Who is the author of “Mother’s Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) Shiv K. Kumar (4) Stephen Leacock

George Orwell’'s ‘Animal Farm’ is marked by a profound awareness of
(1) Equality (2) Liberty

-(3) Social Injustice (4) Fraternity
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10.

1.

12.

13.

14.

15.
(1) Mono (2) Di (3) Tri (4) Poly
16.

17.

18.

19.

20.

The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) Harvest Hymn (4) Bullin the City

Choose the word that has the same meaning as the expression given below.
“ That which can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

“Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is
(1) Disappear (2) Appear (3) Found (4) Seen

Identify the part of speech of the underlined word.
“The search became a mania with me”

(1) Adjective (2) Noun (3) Verb (4) Conjunction

Identify the number of syllables in the word “around” (around)

Which letter is stressed in ‘Volunteer’ ?
(1) V (2) L (3) E 4) T

Identify the silent letter in ‘subtle’.
(1) s (2) b (3) t (4) |

Find the word that is different from the other words in the group with regard to t
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance

Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

Supply the missing letters to complete the speiling of the word “Anc _ _tral”.
(1) i,s (2) es (3) u,s (4 se

Course Code -3 [4]



IV. Fill in the blanks with suitable answer.

21. After working so hard he didn't deserve to fail in the exam,
(3) Don'the?

(1) doesn'the? (2) Didhe?

22. Yesterday at this time all of us

(1) watched (2) arewatching

23. The objectis to prevent him
(1) for (2) from

24. Therose is prettier than
(1) Noother (2) Any other

25. You must cure me

(1) of (2) at
26. Each of the boys
(1) were (2) was

27. There was a man

(1) which (2) when
28. injured were immediately taken to the hospital.
(1 A (2) An

29. Mark the part of the sentence that has an error.
Sunanda was wearing a pink pretty saree.

flower. -
(3) More other
this horrible illiness.

given a chocolate.

- was very greedy.

1 2
(1) 1 (2) 3

30. The teacher will come when the bell
(1) Rings (2) Rang

3
(3) Noerror

(3) Ring
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

Ishe ?

(watch) the cricket match.
(3) hadwatched

were watching

at

Most other

for

have

why

No article

Had rung
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ECONOMICS

31. From the below, what are the features of ‘Economic Commaodity’ ?

(1) Nature given, no price (2) No production cost — no price
(3) Scarcity, price (4) Allthe above

B2 300 Te36° 08 S ofETen

(1) &8 Erdso, $8 oS (2) &t $5000 G0, $56 &0
(3) s, 5 (4) 252y

32. Which is the ‘wealth’ from the below ?
(1) Money (2) Shares
(3) Land and Buildings (4) Allthe above
B4 (808 T3IS° 900’ 2

(1) ¢S (2) eren (3) oo, asmres  (4) Yy

33. When the total utility increases with decreasing rate, then Marginal Utility ?
(1) Increases (2) Decreases
(3) Constant (4) Increases with decreasing rate
AP0 BAITES0 BB TeE DEOBEIIPED G0 A0
(1) 2KB008 (2) srm000
(3) Roor dotnod (4) BB BeS WOH0D
34. If, the X’ and ‘Y’ are substitute goods, if the price of the ‘X’ decreases, then the
demand for ‘Y’
(1) Decreases (2) Increases
(3) Constant (4) None of the above
X’ S08010 Y’ e HErgEmod Shge eand X' &6 shssc Y dirob
(1) 88008 (2) w800 (3) 30 (4) 23 =
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35.

37.

38.

The demand curve with perfect elasticity will be

(1) Leftto right downward sloping (2) Leftto right upward sloping
(3) Parallel to ‘X’ axis (4) Parallel to Y’ axis

50°g TS w0 Mo Girob S

(1) D0 2008 0EE Eobd 7O &otaod (2) &0 o008 HAE PE T éotod
(3) X ez SSrosso (4) Y’ e308 Ssrosto

If the demand curve is with ‘Rectangular Hyperbola’ shape, then the elasticity of
demand is an equal to

(1) 1 (2) >1 (3 0 (4) <1

ol By 'wow e3BTH0N0’ e5E0d’ ey Girol TE e

(1) age38 s7so (2) M%&ﬁ@ép

(3) wsp (4) 253 508 585

The ‘Budget Line’ is also known as , |

(1) PriceLine (2) ProfitLine (3) Life Line (4) Property Line
255 B9’ £ 26" R o
(1) st (2) ewots (3) do8dp () eiyds

The consumer will be in equilibrium position, when the
(1) Budget line condemns the indifference curve

(2) Budget line is tangent to the indifference curve
(3) Budget line is above to indifference curve

(4) Budgetlineis belbw to indifference curve

B2 $08 SoSES” DIAAPATEE SF00E” doerdd

(1) 252539 aordios SEdeso PoBoIIPE:

(2) %St e SEdaH NGB &P

(3) 2GS B &biosd HEBPL IS &dydcsd

(4) o5 Op b K30 BIOSS &SP
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39. The relation between the inputs and output is known as

(1) Production Function (2) Price Function
(3) Trade Function (4) Utility Function
&S G SESODH 50550 HOOLOR KO0 ?

(1) &8y8 oo (2) 5900

(3) oredag w0 (4) ©BBres Heo

40. In pertect competition the Marginal Revenue (MR) is
(1) Equalto Average Revenue (AR) (2) More than AR

(3) Lessthan AR (4) Less than price
Sogeg eI’ ddon el

(1) 34 Ceddssrso (2) e ored €03 255
(3) e Toeds Kokl 880, (4) &6 %0l BE s

41. ‘Selling costs’ is the specific feature of the folbWing market

(1) Perfect competition (2) Monopoly

(3) Monopolistic competition (4) Oligopoly

‘USSP Sairen’ ol 530,85 588 oo

(1) Rogrg s (2) oxdyo0

(3) Dergsog 2¥e (4) 56283500
42. ‘Duopoly’ means

(1) Only two firms (2) Limited firms

(3) Large number of firms (4) No firm

‘OTRIB50° ST

(1) 3¢50 exsosorrtden (2) 26208 exygom e

(3) 258 Soagd exsnSorthas (4) Sogen &0ty
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43. According to the Marginal Productivity Theory of Distribution, the price of any
factor of production depends upon its

(1) Marginal Productivity (2) Average Productivity
(3) Total Production (4) Average Revenue

0% STYSE HoDE PO (B5°60 .8 dind SEK0 B, G B4 0B TP} SR
(1) edros aamysss (2) SKew saysss

(3) g0 &tyd (4) smevoad

44. ‘The Classical Theory of Rent’ was put forward by

(1) Henry Carey (2) David Ricardo
(3) Briggs (4) Jordan
JoRTa el ?ocgoéo' 5 BB
(1) Rsd (2) do&esg
(3) @R (4) &S

45. National Income when divided by total population of nation is known as
(1) Per capita Income B (2) Personal Income
(3) Disposabie income (4) None of the above
AT A0 BF 252 ZPRONTT SO
(1) B8 eorabo (2) s esoravo
(3) Sgoards escrabo (4) P =

46. In India, National Income is estimated by
(1) Central Statistical Organisation (2) Reserve Bank of India
(3) Finance Commission (4) Planning Commission
aTEBLEOS rAOHETEHOR WOBT® DAXVHE
(1) Sogs Keroy 03 (2) artda0 destig o
(3) egxBoo (4) ©emdE Boo
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47. “Supply creates its own demand” was proposed by whom ?

(1) Karl Marx (2) J.M. Keynes
(3) J.B. Say (4) J.R. Hicks
‘BP0 BIDHTHO GIT0ER QROBOLHOLNOE" 8 HATBODIE IO 2
(1) =barhy, \ (2) 2 25.485
(3) 2.8.% : - (4) 2. 6.2

- 48. _‘Effective Demand’ means

‘(‘1) Aggregate Demand = Aggregate Supply
(2) Agg'regéte Demand > Aggregate Supply
(3) Aggregate Demand < Aggregate Supply
(4) None of the above

BieS &3rok’ ensme
(1) a);').m,&m“oé

(3) Swpdsrob<d

?j

HAP[How (2) g&moé, HERVIOtY
ogy g (4)

49. ‘The double coincidence of wants’ is the necessary condition to run the following

f’z,J

system.

(1) Barter system (2) Metallic money system
(3) Paper money system (4) Plastic money system
70,0 BERYS BS0500" @58 $oB H55R SENTmIS B0 D

(1) 5% 3>Ra 3653 : (2) &5y 5 3553

(3) 5© Ed 3553 (4) X8 o0 5559

50. Which of the following is the controller of credit in India ?
(1) State Bank of India (SBI)
(2) Reserve Bank of India (RBI)
(3) Bank of Credit (B.C.)

(4) NABARD
ePSBOF0S’ 85 DaoEer’ DaTwSs _
(1) SBI (2) RBI (3) B.C. (4) NABARD
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51. Economic development includes
(1) Increase in production
(2) Eradication of absolute poverty
(3) Reduction in unemployment level
(4) Allthe above
05 HNAE" $ob vodo/©oTen Goeron .
(1) &3S vtrnde (2) by o5’ sKse
(3) S0 Fond’ srxse (4) 25

52. From the below, which is not the characteristic feature of developing countries ?

(1) Scarcity of capital (2) Predominance of agriculture
(3) Highincidence of poverty (4) High per capita income

53 800 T3 DB BothBuly 370 0FF0 T°AH ?

(1) 8% Saredsivo (2) sgsrarn S

(3) 2% xs0%0 (4) 0658038 emrao

53. India’s ‘Economic Reforms’ includes
(1) Liberalised industrial licencing policy
(2) Removal of restrictions on Foreign Investment
(3) Providing more space to private sector
(4) Allthe above

AL 01 e30% 50, Sesen DA &)y @o¥o/woTmen
(1) 80Sy dpvare 5086
(2) A3 vepacie P oo Fohod)
(3) @oaiBex Sord e x5
@
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54, From the below, which is not the feature of globalization ?

(1) Imposing restrictions on the movement of labour between the countries
| (2) Permitting free flow of technology between the countries

(3) Permitting free flow of goods among the Nations

(4) Permitting free flow of services among Nation States

531808 T%3S° (90085 0FF0 5206

(1) O7e 306 Lo HBEDOD) P esogen HPodeso

(2) T 2655 FcEAE 5080 BEDOYHR SBODL0

(3) Taro Ho¢s; 5w B Y eSodoBe

(4) Do 5065 Dse BEDOYHH ervEGonto

55. The United Nations Development Programme (UNDP) has prepared its first Human
Development Report under the stewardship of

(1) Prof. AK. Sen (2) Prof. Mohbub-ul-Haq

(3) Prof. Mansoor Ahmed (4) Prof. M.S. Ahluwalia

D30 TONEES” DET OIS eDIB TEEO B5 Boosed SFSTHHD HTDEL BLED DB 9
(1) o553 23 (2) esogoTars-ad-8

(3) esTymosmb emb (4) T80, . HSVTOLT

56. As per2011 Census, the female literacy rate in India
2011 ey 88,0 (35760 TEB0F06" Qo eFT7dS T80 ?
(1) 74.04 (2) 82.14 (3) 65.46 (4) 1668

57. The share of the primary sector in India’s National Income
(1) Has been declining (2) Has been increasing
(3) Has been constant (4) Increasing with increasing rate
ATEBRT ePAATTAHE” S SoNo e

(1) &Soom srE0d (2) Eoom BEHHBOHD

(8) dosur &nd (4) DEMOBPY BESE’ WLIOBD
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58. Mahatma Gandhi National Rural Employment Guarantee Scheme was launched in

61.

the year
BT EYTOR rBAD (PO &6 5L DEFO EPEoEI00N DodT S0
(1) 1976 (2) 1999 (3) 2006 (4) 2012

The largest employment providing sector in India is

(1) Agriculture (2) Industry

(3) Services (4) Handloom industry
PPEBLFOE” K02 G R FSy oo

(1) sgsrare (2) seEsoen

(3) sen (4) Td8 s8E0

Among the following crops, which is the highest yielding crop in India ?
(1) Rice (2) Wnheat (3) Pulses (4) Maize
POBBFOE Do), ETNSEBS 7By B0k

(1) %86 (2) Aoy (3) Syyporrgen (4) 2058
From the below, which is not the cause for the low productivity in agriculture
in India

(1) Poortechnigques of production

(2) Dependence on rainfall and monsoons

(3) Low irrigation facilities

(4) The large size of land holdings

B+ 300 THIE 4rEBE0S" SESIOD STRSED B D dotkerNE 680 78

(1) e 8D eind Sefioes (2) Soores Ssgsrobo

@) B2 R3S FET e (4) g s
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62.

67.

Abolition of Intermediaries, Tenancy Reforms and Ceiling on land holdings are part
of

(1) Green Revolution (2) Land Reforms

(3) Economic Reforms (4) Globalization

536555600 R0, T00 50,65, 207 KBS IR0 DEeKHID §od D ©oiod” ek ?
(1) o8 2550 (2) &> Sox e (3) epESoytren  (4) ES0SE

NABARD was set up in the year
NABARD (72§ 2 20D dodds0
(1) 1972 (2) 1982 (3) 1990 (4) 1935

Industrial Policy Resolution which is known as New Industrial Policy was speit out
in the year

ST PO DE VTR0’ 11 SO0 FOFWE A5 Bomgoo Jpesd BT 2
(1) 1948 (2) 1956 (3) 1977 (4) 1991

From the below which is not correctly matched

- 0B IS T sBBEtdSs

(1) 1948-IFCI  (2) 1951—ICICI  (3) 1964—IDBI (4) 1990-SIDBI

Service sector includes

(1) Trade (2) Hotels (3) Banking (4) Allthe above
B T3S hide Soro D8RS E SHB/SHy
(1) =20 (2) Feoey (3) erpoe (4) 23N

In which five year plan the term ‘Inclusive Growth' was used first time ?
(1) First (2) Fifth (3) Tenth (4) Eleventh
BESTB D SN PETAEE” DAPBIY’ S0 eSO RoBEAcS 7

(1) dowcsed (2) es0n0ess (3) =65 (4) sc8oss
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68.

70.

In Andhra Pradesh State, Balanced Regional Development became one of important
objectives from the

(1) First five year plan onwards (2) Second five year plan onwards
(3) Third five year plan onwards (4) Fourth five year plan onwards
EOESSOE TS’ D DOBHY HETVE 5004 DoB0dB FrodalrHLY BT oFTeS” .85 57008 2

(1) 2ol (2) vocss (3) Soress (4) =

From the below, which are the sources of Air Pollution ?

(1) Vehicular emissions, nuclear tests

(2) Deforestation, mining

(3) Buming of fire woods, industrialization

(4) Allthe above

&2 (300 38’ Tarn a8 $°6E0 e6ingd

(1) T5Te 568 Sirew, e g (2) exsdHo 0838, pAere OB

(3) ¥ Soyo, 1oaudsse (4) psdy

“Meeting the needs of the present without compromising the ability of the future
generation to meet their own needs” is known as

(1) Sustainable Development (2) Balanced Development

(3) Human Development (4) Inclusive Development

SR BT BIITOK SHNE’ GO0 By HG0 SBTER BT &6 DO e ?
(1) ESINowBR ed5HB (2) Romods odnHd

(3) srs=dd (4) 520,08 ©HIY
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MATHEMATICS

2 .4
Cos“X+S8In" X

7. I f(x) = > A
SIN“ X+ C0S X

.V xeR, then f(2012) =

_ cos?x +sin*x
sin® x + cos* x

(1) 1 (2) - 3) 0 (4) 2

f(x)

V¥ xe R eavd f(2012) =

72. f f:R >R, g:R —R defined by f(x) = 3x — 2, g(x) = X? + 1 then (gof ) (2) =
f:R—>R g:R—>Remf(x)=3x—-2,g(x) = x2 + 1 ™ 2552% (gof ) (2) =

- 25
(1) -5 @ 5 ®) 25 ) S5
73. § =1¥+22+3+..n% T =1+2+3+...nthen
S,=1+2°+3+...n, T =1+2+3+.... N e0owd egpc
(1) S,=3T, (2) S, =2T,
3) §,=T2 (4) § =T3

1 2] 3 8]
74. A= 3 4J’B= and2X+A =B Then X =

1 2] 3 8]
A= 3 4 ,B= 0800 2X + A =B ecwd X =

[-1 3 1 -3
o [17] o)

(1 3 1 .3
o1 ol
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11 1
75. fA=|1 1 1|thenRank(A)=
111
11 1
A=[1 1 1] @cuds%3(A)=
111
(1) O ) 1 (3) 2 4) 3

76. i—2j, 3j + kand \i = 3] are coplanar then A=
i — 2§, 3) + k So8axw A = 3] o v8datres wond A=

1 -3

(1 1 2 3 3) - (4) 2

77, 1 SOSL SIS _ otk then k =
c0s9° —sin9°

cos9 +s!n9 ~ cot k soxd k =

c0s9°-sing°

(1) 36° (2) 30° (3) 45° (4) 75°
78. If sin™ (E} sin™ (é]z E, then x = (x>0)

X X 2
sin”’ [E]+ sin”™ [E]:E OB X = (x>0)
X X 2
(1) 12 (2) 13 (3) 14 (4) 15

79. Iflog (54%) — sin h~'(k), thenk =
log (5 + [26) = sin h"'(k) soxd k=
(1) 2 2) 3 (3) 6 (4) 5 )
Course Code -3 [17] _ (P.T.O.) ..




80. Ifa=26,b=30,cosc=%,thenc:

a=26,b=30,cosc=geponéc=
65
(1) 7 (2) 8 (3) 6 (4) 9

81. The equation of locus of p, if the distance of p from the origin is twice the distance
of pfrom A(1, 2) =
P &5 £ 500d 50770 Dot Ko Krein, P 500 A(1, 2) Dot Ko Eroedd Belodos

P DotoRE SaosSEsE
(1) 3x2+3y2—8x—-16y+20=0 (2) 3x®+3y?+8x—16y+20=0
(3) 3x2+3y2—8x—-16y—-20=0 (4) 3x*+3y?—-8x+16y-20=0

82. The distance between the parallel straight lines 3x + 4y -3=0and 6x+8y—-1=0
is .
3X + 4y — 3 = 0 50000 6X + 8y — 1 = 0 357088 Do $3¢ S50

-3 3
@ — @ 3 @ %

| —

(1)

83. The image of (1, —2) w.r.t the straightline 2x -3y +5=0is

2x— 3y + 5 = 0565589 yap 5 (1, —2) o), oS

(1) (=3,4) (2) 3,-4) ) 34 (4) (-3,-4)

84. XZplane devides the line segment joining the points A (-2, 3,4) and B (1, 2, 3) in
- theratio
A (-2, 3, 4) 08B (1, 2, 3) Hothyons B e oty XZ Soo ekion I8 =

(1) -3:2 (2) 3:-2 (3) 3:2 4y 2:3
85. The angle between the planes 2x—y+z=6andx+y+2z=7is
2X—y +2Z =6 2000t X + Y + 22 = 7 Sero 50655 S0

n

M) & @ % @ % (4) 0

) pourse Code-3 [18]



86.

87.

90.

cosax—cosbx

Lim -
X0 X2
a® -b? b?-a’ a® +b?
(1) — @ — 3 —
Lim e —sinx -1 _
x0Ty
(1) 1 (2) 0 (3) 2
The derivative of Tan™ [1 2x 5 ] when [x|<1is
—X
» af_2x
¢ |xl<1 e Tan . D), eDEODBW

2 2 -2

M 1 @ e @ e

ify = ae™ + be™, then y* is

y =ae™+be™, wowsd Y’ =
(1) n% (2) —n?%y (3) ny?

(4) —ny?

S5 @DO00Y T =

The slope of the normal to the curve x=a(8 —sing) y = a(1 — coso)
s

ato=—is
2

x=a(6—sine),y=a(1*cose)é@ﬁa’>§6=g— s

(1) 0. (2) 1 (3) -1

Course Code-3 [19]
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o? +p?
91. If o, B are the roots of ax? + bx + ¢ =0, ¢ # 0 then oZip? is
o
. , . C!2+|32
ax’+bx+¢c=0,c20 éf})§6m®§a,ﬁwwo‘wwmsé-7lsj
o+
a® c? —a? -c?
() = @ = @ — 4) —
92. (1+i)'®=2%(x+iy), thenx? +y2=
(1 +0)1%0=2% (x +iy), @oxd X* +y? =
(1) 2 (2) 1 () 3 (4) 4
93. If1,-2and 3 aretherootsof x3—-2x2+ax+6=0thena=
XCPB—2x2 4+ ax + 6 = 0 & Soreren 1, =2 50800 3 eond a =
(1) 5 (2) 4 (3) -5 (4) 2

94. The number of ways of arranging the letters of the word MATHEMATICS is

MATHEMATICS 2606 exgtros 300y dg7ae oy

(In! I1)! (!
(1) 315 (2) % @) 3 a

(!
3 4 ) 222

95. Number of terms in the expansion of (2x + 3y + z)7 is
(2x + 3y + 2)7 606" S Sogg

(1) 78 2) 87 (3) 3 (4) 67
3x+7 -10 K
9. x2~3x+2—x—1+x—2thenK=
3X+7 -10 K
= + =
x2-3x+2 x-1 x-2 eanb K
(1H N (2) 12 (3) 13 (4) 14
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97.

98.

99.

100.

101.

If nc,=nc,, then 13c, =
NC, = NC,, @owd 13C =

(1) 78 (2) 87 3 7% (4) 67

The probability of a non-leap year containing 53 Sundays is

89 5058950 5 2058506 53 eBTTR08 HogTiIs

1 -2
(1) 7 | (2} 7
3 4
3 < 4) 7
The mean and variance of a binomial variable X are 2.4 and 1.44thennis

53¢ eresso X & Sogigionin 2.4 208a 28 1.44 008 N
(1) 4 (2) 2 (3) 6 (4) 5

A Poisson variable satisfies p(x = 1) = p(x = 2) then p(x = 5) =
X 2.8 oS Soorsp{x = 1) = p(x = 2) wond p(x =5) =

e?2° e 5
5! @

(1)

eZ 25 5 52
5!

(3)

If the points (2, 0), (0, 1), (4, 0) and (0, k) are concyclic then k is
(2, 0), (0, 1), (4, 0) 5805 (0, K) Hotren Sdarreond k

(1) 4 (2) 6
(3) 8 (4) 2
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102. x®+y?+4x+8=0, x2+y2— 16y + k = 0 circles are orthogonal then k =

X +y2+4x+8=0,x2+y?~ 16y + k = 0 & oo Syzreo savd K =

(1) -8 (2) 8 (3) 6 (4) 7

103. The position of the point (2, 3) with respect to the parabola y? = 6x is
(1) Inside the parabola (2) Outside the parabola

(3) Onthe parabola (4) None of these

Y2 = 6X 5073000 Sy s (2, 3) Dotoy T
(1) Sordecsmdd ewotson (2) STl rdrore

(3) SO0 Hois (4) 98¢

2 2
104. The eccentricity of the ellipse :(—6 + % =1is

__xz y° & )
+ I =1 88 58 &, 058

M 3 @ 2
3) {7— @ 7

105. If3x—4y + k=0is atangentto x?-4y?=5then Kk is
X2 — 4y? = § 08 3oS0atdd 3X — 4y + k = 0 509 @and k
(1) x2 (2) =3 (3) x4 (4) +5
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106.

107.

108.

109.

110.

[e* [@] dx on (0, )

(1) e*logx+c (2) e*secx+c

> dxis

3 2x
5[1+x

(1) log2 (2) log3

4
T log (1+tanx) dx is

0

n n
—log2 =1
(1) 5 109 (2) 2 og 2

(3) e*logx+¢c  (4) Noneofthese

(3) log4 (4) log5s

T -7
— 2 — 2
(3) 5 log (4) 5 log

The area bounded by the parabola y = x?, the x — axis and the lines x = -1,

X=2is

Y = X2 50000860 X ~ ego X = —1, X = 2 Tpedio S05¢Rps 90¥ 3T o0

(1) 1 -2

dx

(3 3 (4) 4

3%
Order and degree of [%“L[ﬂ] ] ) =6y is

[+
ﬁdx

(1) 2,3 (2 3,2

37%
[dzy +[91J ] = By J0Hrer0, BSHS

@ 1.2 @ 21
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COMMERCE -1

111. The main objective of business is

(1) To earn profit (2) Toincrease sales revenue

(3) Torender services (4) None of the above

TEPE0 Qo) Sooeg ég@%go

(1) eargs (2) esoFros worodoito

(3) oseo Danso | (4) PP
112. The following Industry is called Extractive Industry

(1) Poultry (2) Mining (3) Fertilizers (4) Insurance

54800 TIE” 2.8 DOESIR &EToed HOES> e DO

(1) Sgoosso (2) 2R (3) gged (4) 393
113. The liability of the shareholder is

(1) Limited | (2) Limited by guarantee

(3) Unlimited (4) None of the above

T 03»52, e.mmarqsé

(1) L6085 (2) 5520 Do 380 (3) ensuso (4) 3D =

114. The motto of “All for one and one for all” , which organisation follows

(1) Sole Trading Concern (2) Partnership Firm
(3) Joint Hindu Family Business (4) Co-operative Society
42,50 §790 ©0tSt, 808 §550 .88 @80 TS D09 RORNOIIRND ?
(1) Zrod o (2) eIy TREE
(3) &m0l rosy Seoe T ENSHM (4) SosgRope
115. There should be a maximum of members in a Private Limited
Company as per Indian Companies Act.
(1) 50 (2) 20 (3) 100 (4) No Limit
58 K000 5430 B5750 S D206 S0 HoR ey Do
(1) 50 (2) 20 (3) 100 (4) 56880
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116.

117.

118.

119.

120.

121.

A partner who does not share the profits and losses of the firm and is not liable for
the debits of the firm is known as

(1) Minor partner (2) Partner in profits only

(3) Quasipartner (4) Partner by holding out

RoP Doy, oﬂam%wé‘ T BREHOE HOALL o ERPODH LPH SIPOBHOT &0t PHE
& ORI

(1) wbarmind (2) eproderminth  (3) STHDd  (4) arde armage

Business does NOT include

(1) Agriculture (2) Commerce - (3) Industry - (4) Services
T8’ B4 $00 Te36° D esotso DA &0t 2 '

(1) 3o (2) >eleyo (3) =o@Es> (4) S=oro
Total and undivided risk is the main feature of

(1) Partnership - (2) Sole Proprietorship

(3) Joint Stock Company (4) Co-operative Society

2080 SPAOITRY M, Sosy A, Soopg 050 4 E00 eI D TG0 08008 ?
(1) wrrgiogrgddo , (2)  &ros o005

(3) £a0eSYE 5o (4) sT>Ev03

In which year the Co-operative Movement was started in England ?

(1) 1944 (2) 1935

(3) 1844 (4) None of the above

R0TP0ES" D SoSTEHE" SIS eSS @EoHoTH: ?

(1) 1944 (2) 1935 (3) 1844 (4) PR =y

In which year Indian Companies Act was formulated ?
BTG K00 960 D HOSEE50E’ ErFoBotwdissd ?

(1) 1932 (2) 1946 (3) 1956 (4) 1936
Investment in which of the following is most risky ?

(1) Equity shares (2) Preference shares

(3) Debentures (4) Fixed deposits

B2 800 et IESB0eS” SZako BIE" IS Goeos ?

(1) sgdoeres  (2) epgpTeres  (3) ABonD (4) 2336 Adoen
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122. Which document contains the fundamental rules regarding the Constitution and

123.

124.

125.

activities of a company ?
(1) Articles of Association (2) Certificate of Incorporation
(3) Memorandum of Association (4) None of the above

£020) QoY) TErERENSK0 K0R0G0D EEDY JrEed $H00K) L0 JHI™D JRrTo O JEo
BOANED ?

(1) davErs® (2) s S0 (3) SoysvdBo  (4) TVTYH
The following is not a merit of co-operative society

(1) Easy formation (2) Service to its members
(3) Unlimited liability (4) Stability

e $oB TS’ Jirs Sog g, EATeSo S0

(1) IS e ooeko (2) S0 et Do

(3) 5008 exoes et (4) oo

The holders of these are the creditors of the company

(1) Equity shareholders (2) Preference Shareholders
(3) Debentureholders (4) None of the above
Souné’ D& peSen

(1) &S Terotioen (2) ety Turown

(3) daonsorten (4) D=

In which states the School of Hindu Law is prevailed Mitakshari conditions ?
(1) Assam and West Bengal

(2) Andhra Pradesh and Arunachal Pradesh

(3) Haryana and Punjab

(4) Except Assam and West Bengal in all other states

505 B¥08" D gos” Irots e $e0e8n Gl DEED JodsHes ©Bed” SImon ?
(1) e&dyo S0t 38y Bored

(2) es0 SAF500% exXerdd (5OF

(3) Toog 5obaxn Soeres

(4) &0 So8as 38y Bored Tod” B3 WS e oLod’
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126.

127.

128.

129.

130.

The document governing the internal rules and regulations of a company is called
(1) Memorandum of Association (2) Articles of Association .

(3) Prospectus (4) Cerntificate of Incorporation

50D 353558" EDUHTO DsEEreats SRS D Deolsisomd oot

(1) Soysdagsw  (2) dabsrsd (3) B88a0 Swo (4) a7 Do

The goods which are manufactured in other countries and purchased for
consumption in India it is known as

(1) Export Trade (2) Wholesale Trade

(3) Entrepot Trade (4) Import Trade | o

DoTos BaTDS 5o EEDIE” IIDFRCBEDE Srsoies Biskond e EIEanio
oI, .

(1) 2008585  (2) SoH5g5 (3) sroosg%o (4) B

NTPC is working under

(1) Co-operative sector (2) Public sector
(3) Private sector | (4) Joint sector
5,63, 5.3, 84 Eobd Solto Eods 59 Biaod |
(1) sosvooman  (2) 585 somsw (3) gf;%of Soksy  (4) éssod Sorsn
A good example of a construction Industry is
(1) L& TCompany (2) ECIL
(3) Murphy Company _ (4) HMT
ATEd DOESE Y FOBIOK H000 EXTITE? e
(1) L&T=nd  (2) ECIL (3) mbysd  (4) HMT
Preference shares are those which carry preference in
(1) Retum of capital and dividend (2) Return of capital
(3) Dividend (4) Voting rights and dividend
BRED THTOH He God T3S’ HIS efH dotwod ?
(1) Soreeso »orad Sobate G0k (2) Sorossopoed
(3) daack (4) e daheostor, &otok &hr
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131. The closing stock is not shown in Trial Balance. The reason is

(1) Because it is not sold (2) No journal entry is passed
(3) Nopaymentis made (4) Includedin purchases
00RO DD Dexsd eoserS® JotHEH SIS0
(1) B esoeedes sl (2) Depes; oo sheed
(3) Do eSS She0e (4) FRGHSE DD cod el
132. Wages paid towards installation of machinery is shown in
(1) Balance Sheet (2) Trading Account
(3) Profitand Loss Account (4) None of these
QDOE® PATIHKD DYODN ST O
(1) e} osye 5l srpetd (2) 3659 9os’ BrHTEH
(3) oese s SrYBE (4) ¥3dD=P
133. Accounting is a language of
(1) Stakeholders (2) Business
(3) Shareholders (4) Investors and creditors
K T (@ 0edoR) esiond
(1) 35 gg0ers (2) =os0eri
(3) Terortve 5057 (4) Depdorg SHB8AM0 2EXTHO SBFX

134. Credit Balance of Bank column in Cash Book shows
(1) Overdraft (2) Cash deposited in the Bank
(3) Cash withdrawn from the Bank (4) Opening Balance

SRS HREO P08 SIS’ BeS Deg BAD Zrdgod ?
(1) e36@g D (2) wrpE® AIrEeS BN B
(3) 2o Rood SRS HK (4) 6oz deoy

135. In Double Entry System income is measured on the basis of

(1) Consistency concept (2) Costconcept

(3) Matching concept (4) Business entity concept
206> 355 D508 TN B0BOHD PBDBE i

(1) D5 o5 (2) SELarsd

(B) S50/ 238500 870 (4) 6 e oD
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136.

137.

138.

139.

140.

141.

Goodwill Account is classified as

(1) Real Account (2) Nominal Account

(3) Personal Account (4) Suspense Account

IOEDS B0 D gFTTT SHZOI 2

(1) s (2) Toargd o (3) 3886 arer (4) eoso grae

If Assets = Rs. 20,00,000 ; Liabilities = Rs. 18,00,000 ; then what is the capital 'P
28 TR0 G, esryen = &7 20,00,000 ; eyen o, 18,00,000 ; BOHEI0NB, BOTOEHO
Jodb ?

(1) 38,00,000 (2) 4,00,000 (3) 1,00,000 (4) 2,00,000

A sale of Rs. 50,000 to Ravi was entered as a sale to Raju. This type of error can
be classified as
(1) Error of omission (2) Compensating error

(3) Error of commission (4) Error of principle

522 8. 50,000 o e550,5% BEHHT, T eSoStes sBASENT ST & SIS0 D S
S0 DB ?

(1) e588% (2) 5623 E% (3) D&% (4) Spos &

A statement in which all the Ledger Accounts balances are shown. It is known as
(1) Balance Sheet (2) Trial Balance

(3) LedgerBook (4) Profit & Loss Account

BST PTO YO B0 JDOED 50 0T ?

(1) ededyosds (2) eossr (3) esgTIgsn  (4) oo yo

Goods distributed as free samples is debited to

(1) Advertisement Account (2) Charity Account

(3) Purchases Account (4) Goods Account

&8 ToDY) 5700 S0 B D gEH BHeS BYD ?

(1) pseose grae (2) oy (3) Soffevgrae (4) 0% o

The first stock exchange was set up in India

(1) Calcutta (2) Delhi (3) Chennai (4) Mumbai
WEEBH0S" 200¢3A0esed 8 oo I8¢5 TDOTE ? |
(1) s (2) &b (3) 3 (4) s208
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142.

143.

144.

145,

146.

Which of the following is not an Input Device ?

(1) Touch screen (2) Optical scanners

(3) Touchpad (4) Plotter

B3 80D TS DB 507d 35T HOKB0 TS ?

(1) &5 @az,s (2) epsS IR (3) eSnE (4) Jeb
Special Economic Zones (SEZs) have been created in the

(1) EXIM Policy 2002 (2) EXIM Policy 2000

(38) EXIMPolicy 1991 (4) None of the above

56 A58 595 (SEZ) Lodosd.

(1) 2002258 Jroxé’ (2) 200038 Fons’

(3) 199185 Jodé® (4) WD

Which of the following is not included in the category of intangible assets ?
(1) Patentrights (2) Copyrights (3) Machinery (4) Goodwill
&2 /(@08 T3 OB £:923¢59 es00 30635 Tk 9

(1) 2BeSmyes  (2) 8 B (3) ooren (4) &S

Inventory is valued at

(1) Cost price (2) Market price

(3) (1) or (2) whichever is higher (4) (1) or (2) whichever is lower
B00R0%) BELHRO Dewis ¥excso

(1) %850 (2) 2570)e5 Dewss

(3) (1) 8 (2) & D8 %28 @6 (4) (1)3c°(2) 6° 90 55528 &b

The company whose managerial headquarters are located in one country, while it
conducts its operations in a number of other countries is called as

(1) MultiNational Company (2) Private Company
(38) Government Company (4) PublicCompany
TS Vser STOEaHo 2.8 BF08” God P BT T SEETTOR D oD
€0eTD
(1) eo¥ 2800 sowd (2) den sown |
(3) anisg Soud (4) 585 %ond
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147. Single entry system has the following effect

(1) One sided effect (2) Two sided effect
(3) Three sided effect (4) None of the above
2,063 R I8 B2 ($08 N0 &otaod

(1) 2539 @ardo (2) Boco PO Berso
(3) S dPo Berso (4) P =D

148. Opening stock = 1,00,000 ; purchases = 2,00,000 ; closing stock = 1,00,000 ;
sales = 3,00,000. Gross profit/ioss = ?
(1) Profit=2,00,000 (2) Gross Profit=1,00,000
(3) Gross Loss =1,00,000 (4) None of these

D008 5% Jex = 1,00,000 ?éoﬁeq;bo =2,00,000 ; 300A0) 3605 Jes = 1,00,000;
Ssen = 3,00,000. B 20/ S50 = Jo® ?

(1) eain=2,00,000 (2) sy ean=1,00,000
(3) Spongs»=1,00,000 (4) P

149. Which of the following is a liability ?
(1) Cash atbank (2) Bills Receivable

(3) Bills payabie (4) Goodwill
52 308 Te36° DB e td DodSS 2
(1) o sns  (2) Shres Heyed (3) 20op Doy (4) &S

150. Debit what comes in and credit what goes out is the principle of

account.
(1) Personal Account (2) Nominal Account
(3) Trading Account (4) Real Account

oS08 B ©08ine BOS DA S0 205 19006 FSD eodhNOR> BleS T & At

(1) 5858 gro (2) TRosrE) o
(3) 3559 v (4) 325 g
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